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Quadratics QUEST %QM%O,J,,K 7y / 4 a)

Mid-Unit Lessons #1-4 Z- |
1. Given the equatton y=2(x+2)* -2, provide the following: (10 points)
a. Coordinates of the vertex | ( - 4% £ &
b. Direction of opening /e, @
c. Max/min value .' min@ A &
d. Equation of the axis of symmetry . X ': fl 2
e. Coordinates of the y-intercept (0/; A ) &
(-10J@ (-3,0) @
f. Coordinates of the x-iptercepts X=- x=-3
0=2(x2) -2 f/
X2 _ 4
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g. Domain of the function X ’"K

h. Range of the function

Sketch of the function
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2. Given the equation -2y = (x - 2)* - 16, provide the following: (10 points)

a. Coordinates of the vertex | é?,. ()a ) @ o,
b. Direction of opening | &/&?w/{ &
c. Max/min value MA@ (? @
d. Equation of the axis of symmetry X =L @
e. Coordinates of the y-intercept (0/; 4 ,) @
| W A\ ( )@
f. Coordina’tes of the x-intercepts ( “«a 0/) é; 0_
=7 [ xep 2 _
072 bD By E
ﬂ_é’ - 3(}("2’) - X-2 = ;flf x=277
| - ' v
g. Domain of the function X "‘7//4 O
h. Range of the function _ y&E
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3. Given that the vertex of a particular quadratic is (2, 6) and a second point on
the graph is (5, 7), determinf; the equation of the quadratic in standard form. (2

s points) Y= &_{3(70) +f/
077 220 (52)
476 70 (52) 6
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4. Given that the v&F ex of a particular quadratic is (-4, 5) and the y-intercept is at
-3, determine the gquation of the quadratic in standard form. (2 points)
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W 5. For each of the following equations

i} Describe in mathematical terms the transformations on the parent function
y = x%. (7 points)

ii) Write the coordinates of the image of the point (-3,9) (on the parent
function) after each transformation has occurred (7 points)
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b. y=-2(x-4)+7
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6. Determine the zeros of the function and y;intercepts of the graph of the |
function (6 points). \\> ol = X4 Gg/pﬁ' =/l
a. f(x)=2x*-x-15
. Z
O 7 Ax=x-1§ |
O = (x«»j’)&x-f§> Z,
zeros: _X =3 -3 Z8
/5 @

| y—intercept: u=_
b. f(x)=3x%-48x J

O = ?xg“VdﬁX
0= 3;(6:1“/5)
e Ix (X‘*f*‘/)/}("‘f)@

zeros: _ X = Q '“9;’ d Z
y=o _©
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